FaEIR-/NEdR-/MERER

TGS A MBI R

(HpFEREH 1] No.1

1B0K) 2B (K) 7BQCK)

s M4 =(g) ] ME4 = ] ME4 =@
[ AE) 100 I AE) 100 [ AE) 100
4E 206 &3 206 43 206
HSYDHAZE 14 BUOEA 33.6 ER(CFEIN) 18
FLUOLE 4.2 (&) EBIF (2cmfa) [100.8 HBIT 8.4

H/IMRE 7 -Fh=E 50.4 _ IZALCA 18

O EIZALCA 7 IZALA 16.8 [J; =T D ZKE 24

C YILMLEESHBEIT 7 DlFDIKE 8.4 o ST Azl 18

T EHSTH 112| |E7[Maz 168 | = [(B)SVPVAFA 6

= VB 1.12| B F[H35H 1.68] | = [=B% 1.44

R LS (SLKB) 294 |IT Y[LLSWP (CLIKB) 8.4 E& ] 1.44

DB 1.12| |DU|BASR—TDHE | 154 L&5 (59<H) 5.76
7K 1 K RbEE 0.84 7K
HI|HYA 3.36
ABETYE BHL) 21| W 2[aF1>y> 0.84 )Y 2E (ATY) 35
L&5A 0.7 B|TAH 0.84 M [LeSA 1.7

H [INE®R 1.54 K 1.68 D (=R 3.8

C =& 42 15 0.17 & B 2.3

D |f=FhF 28 7K D (HYA 2.3

2 [IZACA 14 A [LLIRP (SLKB) 75

# |Bh¥E 14 £4BL 49 & K 12

A |XAZ(R) 7 .= 14

n | E&% 7 ;T;“U:’i 42 Cohrg 49

W EGELER) ] ) i CFih 0.7 Clr=FHhZF 42
7K 119 (3, 5 Rh¥E 0.28 H‘Vf(}‘%)li5ﬂ/u%5(7j‘yh) 28
’ s L&KW (CLKE) 35| |z MXEXAZ(B) 7

JEEEERES 64.8 LE*&L‘;«*:/U 0.21 ~“-I-L\ EHF 7

AN o T HLWVYZ(ELER) 42

A DK 126

j_

— B/ NYZ 5 —B () Hmts 40
8H(K) 9H(XK) 9H(XK)

A% MEE B)| [mzz MELE B)| [wu= ML B
NV UNER) 80 CER(K) 100 RAVTYTILKSUR)E| 30
N 206 ) 206 AN
—B3I)L99)—L 15 4

/)R (ATY) 42 >
BUO=A 19.5 & |[CAH 5.6 7
AH—=1vH89 5% — |0.03 T INE#H 28 v
Y54 13| | & [F55H 4] | 7
(B KEXE 391 | 3|k 71 | W
LRILREHIRE—2 X 195 & (BKEXRE 42 ~
LURE 13 o INE 2.8 iy

F |[F=FhF 65 # 515 ih 8.4 -

) &35 LER—IVE] 13 z L&A 0.28

a [rRRE@EYYE 39 m | =mtE 2.1

v | TFYYT 8.45 5 HYA 1.12

h|FIYY—R 2.21 7S EHT 49

v [avIAR—TDHE | 1.69 7K 28
Y—2R 2.08
TAH 0.65 () DEIFEZ GRYIY) 7
7K 1.3 IZALA 14
15 0.13 TRy 35
E ) 0.01 f~FhE 21

5 IMNAZE 21

- FrRY 455 = SLF(RTAR) 2.1

EESD 13| | 3 [BABR=TDdE | 21

£ FT—EVE(RSM4R) | 65 | 7K 126

. S5 H 1.95 — 15 0.21

L [EE 1.95 ECLES 0.03
L&SW (CLKB) 1.3

7% 0.3

,}7,« LS 0.01

Ath X 1




MEAR-/IELR-NEER S FI65E5 A SEMRk L R (h2EH1] No2
108 (%) 138(H) 138(A)

BRI % M =(@| |mxs ME4 =(@| |mxg ME4 =@
NV UNER) 80 ETEHRCK) 110 + HEIAE 20
&3 206 3] 206 5 AT TILKESUB)E|] 30
—BL\WB IOV A 15 A EkAETY)E 10

_ B (RS54 R) 26 Y

b [BEVEYLF— 20 A=)y 139F— | 001 i

4@ HL—$ 0.13 By

) B S5 26| | 5

7LU Cohrg 91 2

| = ~FhE 65 5

IZALA 26 o

5 R—Y 13 YAC 19.5 |

p [LeDLE 130 | F [(WIUJVE=R 65| |

P |EERE 65 | ¥ NEH 52

W [TV E=R 65| | ¥ [AL—8 0.91

% HS4 1.3 * |R—HUL GRER) 5.2

o [EELGREA) 39 vo|EH

5 ERAS A EL 6.5 ¥ | FrvT 0.65

SRER 6.5 h (V=R 1.95

| AVYAR—TDHE 1.3 L [aovAR—TonxE | 26

A 1= 0.2 | [a—=C 0.01

= PECL&ED 003 | 5 [K 59

1 & 0.13
LodFL 1.4 R [Em@®v-»oBFEs0e)| 30

7 |IDHAE 28 H—=Uvo/x 53— | 0.02

] 42 & 0.18

EFT—EUFFE) 42 FECLES 0.02

v RYSHH 0.7 INEW 3

F DILESK (SLKB) 0.42 Y545 H 2

o i 0.14

& [EILLS 0.01

148 (CAK) 158 (K) 158 (K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
HE AR () 80 R (CK) 100 f-FhE 26
4E 206 L 206 IZALCA 19.5
—BEEIULH 2 3 EXAY 26

R EAFEF 42 2 125 6.5

AESE A 80 E—<> 7 x BEXHIH 6.5
ER(EYY) 13 & BT 5.6 5 BT (RTALR) 1.3
B CAHrFEEZ@EIY) [ 13 -Fh= 21 2 L&KW (CLKE) 0.65

hSlf-FhE 52| | 2z [ISALA 14) | T [BAoR=TDLL | 254

PEEDIMD 3.9 o Y545 2.1 — 7k 130

H|HT 6.5 e R FryS 9.1 1& 0.07

2 MLLEIP (59LBH) 455 | 5 |Eb¥E 9.1 FCLES 0.03

EHILWYZ (FELA) 3.9 5 L& (CLKBH) 0.98

A AN[CASRFELR) 0.65 I J—2R 2.1 &) —BEFALEVEY—| 40

Yk 150 + & 9.1
15 0.13 B TA 0.7
& 1K 14

LB LLetoxseFH) | 25 4 K 11.2

XL

R

53

® (M AUV a—<A 27
AN—ay 7
'{: RYZE YY) 7 Z

A IS 21| | U

| ’; BS54 M 0.7 >

qz FARE—Y—R 1.82 a

> (B 4] | |

s |#YA 14| | <

0 e (18 014 | A

oEILLS 0.01

Ah[X2




FaEIR-/NEdR-/MERER

TGS A MBI R

(HPPIREHT] No3

16 H(K) 178(%E) 208(H)

s M4 =(g) ] ME4 = ] ME4 =@
NSV (BENER ] 60 I AE) 100 [ AE) 100
4E 206 &3 206 43 206
—BFIaaRkEV)—L| 10
= R (GIFA=IES 40 . l(j%{il\itﬂ% 60

INTYITA FIOM 1
15 0.07 ,E X (=54 4

1 (Y35 iH 2.8 ,&E D A 3

6! ?;;/g;—v—t—ﬁ 21 B = L,OEJBAI?J(:L\%) 9
= 70 2 (# 3

7 |[ICALCA 21 B (RS54 R) 28 ¥ [—REEF 0.01

v |E—<> 7 %L‘;«bbft\% 112 Y (B 5

R [F=1)vH:,85548— T 001 Pﬂf:im%‘ 42 & K 20

N | HSHH 238 L[SALA 21

7 IBERF—X 14 AC,%:/U(:M 42 Cohrg 35

Y PR FroT 14 | o[ CREBVATA 7| [EALL 7

1 [ 014 [FU[EER 56| | plE 275 0.7
HECLLD 0.03 £ |L&I (CLKH) 98] |rx =M 1.05

2 VA 0.35
1)) b%ﬁ —
s [ : L
s\ N _ FJ .

E [ES5EACLGE—IL)E] 21 IZACA 6

Y S5 14 TEYRY 36 EBIT 42

7 & 014 | ~[FUSE 36| | = [ERE 49

| #£CLs5 001] (S %}F*ﬁ 0.6 i E-bg&; 28
& 1.8 . [BHhFE 7
—RUEERH | 13| |nLoREdE) | 18| | 5 [RazE 7
zﬁ’ £ 012 | z [E#T 7
e z |WYC(ZLA) 4.2
) #+ |k 126

21H(K) 22H(K) 23H(K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
B/ UNER) 80 R (CK) 100 R CK) 100
4E 206 L 206 &3, 206
—BESERy)—L] 10 —BAESUMIT 2.5

() EVRINERISA (FHEDB) 49
LRLRESC A mEIT | 18] |4 . [BTH 4.9 A INoIN—F 80

v [Cephg 6| |X5 1, [=FRF 52

¥+ [ERZE 0] |55 #;f:rf@:*ﬁ 65

O |[WITIVE=R 6 |52 1N =AYU GHER) | 13

h |[HS5H 12| |x L IF3532Y—=& 8.45

L (AL—¥ 0.6 V) 5 R FryT 6.5

| (R0 0.24 L) 28 |0)‘/—x 0.91

R [V—X 0.84 Eﬂ?—f?ﬂ):‘i 28| R4 (F) 1.69

F A VAZR—TDEE | 06 ﬁ@%a‘f}}ﬁi*ﬁ 0.42

b IE 0.18| |= D | 35 A—ay 6.5

ﬁ Y | BE 28 Conlg 52
;ﬁu:(‘y»rxr) 7 DILLHIP (SLKE) 35 % {:i#af 39
5 0.07 = |ITAL 13
N—y 7 EBR(EL1Y) 14 ? EX] 26
f:i@f 42 f‘%iﬂ#a% 42 | [A2YAR—T D& | 156

- [[ZAL 14 — ] 42 7K 124

% [Fxry 42 [CACA 4| | 7 & 0.2

2 rREDY) & 42 . F5NAZES 14 ECLELS 0.03

b EBAILOR—IE] 7] | 5 [LLS(5F<KE) 35

o [L¥ZXE 14 < TAH 1.4 —&B3—5 )Lk 105

| |25 14] | 4 K 28

= AVVAR—TDHE | 14 N WY (FELE) 42
7K 63 T CARGELR) 0.7
15 0.14 7K 119
FECLES 0.03 18 0.28

Aih[X3




MEAR-/IELR-NEER S FI65E5 A SEMRk L R (h2KEH1) Nod
24H (&) 27H(A) 278H(R)

s M4 =(g) ] ME4 = ] ME4 =@
—BR(K) 100 I AE) 100 Cohrg 40
42 206 -k 206 7 (& 0.13
—BUOLESYUMIT 2.8 A [FECLES 0.01

BUOEA 21 =
(A BEBL/N—EMETF| 585 A—1)vH8958— | 0.01 Ly
Cohg 52 HS4H 14 3

H [i5fih 10.4 ~FhE 70

E MM FryT 3.25 IZALCA 14

L [mhfE 3.25 T |k 10

N [LESRP (SLKE) 0.65 T [LeA LV 14

[ [k L [FRFE2—L 39.2

R Z (R FYT 11.2

T N[ TITSRY—R 14

~ v (R 0.84

v ([BALR—TNLE 14
2 [lFBHD 2.1
EHN(ETY) 14 4 [o—LJL 0.01
e 28 R |ALA/ 0.01

® |hvbEH 14 F— LRI R 0.01

E |f=FhF 28 7K 56

L [IEHH 2.8 15 0.14

M LR (59KEH) 0.28

b [BASR—TDEE 14

D (TtAH 14 FrRyY 56

=2 K 28 :l:Fl:/uL‘;/u 14

# |CEH 028] || P E2EBLGR—IE] 7

Z [K 140] |V [B2%E 0.7

| 15 0.21 X‘yE’F 2.1
7 EILLS 003] (A HI/>TvTRIAF—X [ 56
| *[& 0.14
FECLES 0.03

28 H(X) 29H(K) 30H(K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
CER(K) 100 EIH/RCEK) 110 YIRSV RAVUNER | 70
4E 206 L 206 &3, 206

—&77)avroy L] 15

5 [UR)REISH 40 LEIVEDDEMIET | 32.5

L & 0.2 WIYZE 3.9 M IL—rFLLY| 50

| & [HL—% 0.35 S| 1.56 f-EhR=E 21

L¥|aVYAR—TNDHE | 0.28 A&JE 052| | |AvkL®L 21

=D hEH 2| % plerYA 104 |¥ |TULF 21

i Y54 M 28| [IEFZ[LeSW (CL<E) 221] |v L [FRFEEY) & 14

5%%%% 39| |E Aﬁ‘—')\y7/€r77°— 0.04

= 4] |~ S[wE 13 |=|ZAU=2H 0.7

 [LPLRKEBVAFAT] 49 512 0.13| |4 )|F8/ VI 0.14

A Cohrg 49 545 H 195 [v o)iﬁ 0.28

F -EhE 49 YV UEECLES 0.01

4 [IEACA 28 FE=1 7l | [TA® 0.42

= [MIIVVE—R 7 iz 14| |R [k 0.84

3; BS54 M 14 IZALCA 7

=2 aAVYAR—TDEE | 1.68 EH) 7

ES 49| | 4 IR St 28 Comrg 35

> 1= 0.21 £ IRy 21 -FhE 70

= [FIL&S 003| | 5 [ATE 7] | R [ISACA 70

‘_F Bz 7 v BE 2RI 0.14

R E=2a 48] | [XR&HEE) 7 | =AU GAER) | 14

L ES3EAZL(R—IL)E] 12 EHZ 7 U | &3 GRER) 70

v 4 |Z£U—=Th 1.8 WY (LA 4.2 2 (BRAEEL 7

> 4 |BE 24 7k 126 vAp3 7

YU A=)vo8F— |002 L [avVAR—TDEE | 21

77E 0.18 —BRHEEE)— [ 40 2K 35

¥ [#IUsS 0.01 | & 0.14

5 ECLES 0.03

Aih[X 4




MEAR-NELR-NEER SH6ES B SRR T (h24% &%) No.5
31H(®)

s M4 =g ] ME4 = ] ME4 =@
[ AE) 100
42 206

gl BB (RTAR) 14

EY Ei5F _ 56

TES PYFLIEEWLCA 7

Hs L IZACA _ 14

D1 (f%)é‘bb‘/u('}'/\./ 7

s C|[EEE 4.2

2= 4 L& (CLKE) 5.6

w4 X

_ |—E#M= 40

o [—BOYHEE 8

Y R

m=E

#

e 42
=FhE 35
IZALA 14
M INAE 14
= L&5 (SLKE) 0.7
- L& (59<H) 3.5
+ TAH 14
o 7K 2.8
ASFELE) 0.7
M OEE (L) 2.8
7k 133
1= 0.28
v MEE =(g) B2 ME4 =@ B4 ME 4 £(@

Ah[X5




